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FEILE 573 442 131 29.6 426 331 95 28.7 74.3 74.9 —0.6
& A 33 29 4 13.8 30 24 6 25.0 90.9 82.8 8.1
mO& 47 38 9 23.7 42 37 5 13.5 894 974 -8.0
) P 22 25 -3 -12.0 16 20 -4 -20.0 72.7 80.0 -7.3
TRIEMRE 166 109 57 52.3 110 70 40 57.1 66.3 64.2 2.1
G 22 23 -1 -43 22 17 5 294 100.0 73.9 26.1
ARIEHLED 283 218 65 29.8 206 163 43 26.4 72.8 74.8 -2.0
BEEGED 2,082 2,170 —88 -4.1 1,373 1,423 -50 -3.5 65.9 65.6 0.3
RAE 1,946 1,983 -37 -1.9 1,308 1,302 6 0.5 67.2 65.7 1.5
FEEXMR 860 848 12 1.4 444 442 2 0.5 51.6 52.1 -0.5
T Dt 1,086 1,135 -49 -4.3 864 860 4 0.5 79.6 75.8 3.8
SEIERS 58 81 -23 -28.4 27 64 -37 -57.8 46.6 79.0 -324
Vo1=KY 23 22 1 45 14 17 -3 -17.6 60.9 773 -16.4
EN, 55 84 -29 -34.5 24 40 -16 —-40.0 43.6 47.6 -4.0
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BFELE 368 312 56 17.9 321 264 57 21.6 47 48 -1 -2.1
B/ OA 27 24 3 12.5 25 22 3 13.6 2 2 0 0.0
m & 72 49 23 46.9 57 41 16 39.0 15 8 7 87.5
) PN 17 17 0 0.0 15 16 -1 -6.3 2 1 1 100.0
TRIBMRE 93 67 26 38.8 82 50 32 64.0 11 17 -6 -35.3
BEGEHF 19 17 2 11.8 18 17 1 5.9 1 0 1 0.0
ARIBEHLED 140 138 2 1.4 124 118 6 5.1 16 20 -4 -20.0
BEEGEIL 258 279 -21 -71.5 240 260 —-20 =1.7 18 19 -1 -5.3
BAE 220 236 -16 -6.8 210 221 =11 -5.0 10 15 -5 -33.3
FEXFR 71 92 -21 -22.8 65 82 -17 -20.7 6 10 -4 -40.0
ZDfth 149 144 5 3.5 145 139 6 4.3 4 5 -1 -20.0
EEIERS 17 23 —6 —26.1 13 23 -10 -43.5 4 0 4 0.0
Uo1KY 7 5 2 40.0 4 5 -1 -20.0 3 0 3 0.0
EN 14 15 -1 —-6.7 13 11 2 18.2 1 4 -3 -75.0




